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Mechanical vibrations

Harmonic oscillators, pendulum

Undamped oscillator —
damped oscillator

Driven oscillations

Superposition, decomposition,
beating

Coupled pendulum 8 LA



mechanical vibrations

oscillatory
motion

auditory
hair
bundles

Jiilicher COCB
(2005)

also: genetic oscillators e.q. circadian clocks



oscillatory motion

M;

;!

x =
=

=

«— |- - A - ——————— -

t

FIGURE 14-2 Amarking pen is attached
to a mass on a spring, and the paper is pulled
to the left. As the paper moves with constant
speed, the pen traces out the displacement x
as a function of time t. (Here, we have chosen x
to be positive when the spring is compressed.)
Tipler



oscillatory motion

x(t)
A

/\ x(t) = a-sin ot
x(t) = a-sin ot
\

x(t) = b-cos mt \\/ / \\iﬂ = b-cos ot

x(t) = a-sin (ot - @) /\ /\
/ \/ x(t) = a-sin(mt - ¢,)

|
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oscillatory motion

Question

Eine Masse m schwingt wie in der Skizze gezeigt, mit
gewisser Frequenz und Amplitude auf und ab. Falls die
Amplitude verdoppelt wird, ist die maximale Kraft....

1.

a0 AW N

vier mal grosser

. zwei mal grosser

. unverandert

. halb so gross

. ein Viertel der bisherigen Kraft.

. keines von allem
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oscillatory motion

Question

Antwort: 2. Zwei mal grosser

Wird die Amplitude einer Schwingung verdoppelt, wirkt
eine doppelt so grosse maximale Kraft.

Eine Masse m schwingt wie in der Skizze gezeigt, mit
gewisser Frequenz und Amplitude auf und ab. Falls die
Amplitude verdoppelt wird, ist die maximale Kraft....

1. vier mal grosser
. zwei mal grosser
. unverandert

. halb so gross

. ein Viertel der bisherigen Kraft.

a0 AW N

. keines von allem
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oscillatory motion

Question

.

ml=m2
kl=k2

Equilibrium -

10 cm

FIGURE 14-3 Two identical mass-spring systems.

If they are released at the same time, which object reaches the
equilibrium position first?

a) Object1

b) Object 2

c) atthesametime

Tipler



oscillatory motion

Answer

at the same time

Equilibrium /»1:\\_ )

10 cm

FIGURE 14-3 Two identical mass-spring systems.

The frequency (and thus the
period) of simple harmonic
motion is independent of
the amplitude.

11 F
f—T_Zw'\m

X, cm
10 Object 2
Sy Object 1
\
\
-5
-10

FIGURE 14-4 Plotsof x versus t for the systems in Figure 14-3.
Both reach their equilibrium positions at the same time.

Tipler
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harmonic oscillation, energy

Tipler
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FIGURE 14-7 Plotsofx, U, and K versus t.



harmonic oscillation, energy
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FIGURE 14-8 The potential-energy
function U = 3kx? for an object of mechanical
mass m on a (massless) spring of force constant
k. The horizontal blue line represents the total
mechanical energy E,_  for an amplitude of A.
The kinetic energy K is represented by the
vertical distanceK = E__ —U.E_ _, =U,so

total tota

the motion is restricted to —A = x = +A.

harmonic approximation

Parabola approximating U near
point of stable equilibrium

FIGURE 14-9 PlotofU versus x for a force
that has a position of stable equilibrium (x,) and
a position of unstable equilibrium (x,).
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harmonic oscillation

Man hat ein Fadenpendel
und ein Federpendel.

Die Feder hat eine
Federkonstante k. An
beiden Pendeln hangt die
gleiche Masse m.

Wie lange muss das
Fadenpendel sein, damit
die Pendel die gleiche
Schwingungsperioden
haben?

ll} o R O AT

1. Die Pendel missen die gleiche Lange haben.

2.1 oc k/m

3.1 oc m/k

4. kann man mit diesen Informationen nicht sagen.

ETHZ



harmonic oscillation

Man hat ein Fadenpendel
und ein Federpendel.

Die Feder hat eine
Federkonstante k. An
beiden Pendeln hangt die
gleiche Masse m.

Wie lange muss das
Fadenpendel sein, damit
die Pendel die gleiche
Schwingungsperioden
haben?

Antwort: 3./ = gm/k

Die Schwingungsperioden fir Faden und Federpendel laut-  Dyrch Gleichsetzen folgt die obige Beziehung. Zu beach-
en: - ten ist, dass die Schwingungsperiode des Fadenpendels

—

// T — on [m nicht von der Masse abhangt. Die Massenabhangigkeit

I'=2m\|- . n
\f ] ke entsteht aufgrund des Federpendels.

ETHZ



damped oscillator

| damping x = A,e” Pt cos(w't + 8)

medium
! b 2
o' = wo\/l — (me )
0

Tipler
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damped oscillator

Underdamped
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Critically damped

Overdamped
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driven oscillator
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driven oscillator: resonance

average power delivered to an oscillator as a function

. effect of dampin of the driving frequency for two different values of
amplitude 1 f ping damping
a ((l)) A
: Aw 1
" Q: quality factor — = 6
1 w
Pi\\" O
P max ,"'".
damping & [
01 <8, <03 | |
,l‘ 'i, Weak damping,
é / high Q
ip A
& 2% max | ' i )
res / | Heavy damping,
P max : low Q
' broad resonance
1
§P max |
= ®, ©

g ®
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